[image: image1.png][_[OIx]

Help

Window _Hel

Fle Edt View Inse ook

losma rars 220





b=[1 1]

a=[1.9391 0.0609]

h=impz(b,a,10)

stem(0:length(h)-1,h),grid

b =

     1     1

a =

    1.9391    0.0609

h =

    0.5157

    0.4995

   -0.0157

    0.0005

   -0.0000

    0.0000

   -0.0000

    0.0000

   -0.0000

    0.0000
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x=ones(1,15)

y=filter(b,a,x)

stem(0:length(y)-1,y),grid

x =

  Columns 1 through 8 

     1     1     1     1     1     1     1     1

  Columns 9 through 15 

     1     1     1     1     1     1     1

y =

  Columns 1 through 5 

    0.5157    1.0152    0.9995    1.0000    1.0000

  Columns 6 through 10 

    1.0000    1.0000    1.0000    1.0000    1.0000

  Columns 11 through 15 

    1.0000    1.0000    1.0000    1.0000    1.0000


2.3

n=0:32

x=sin(2*pi*0.125*n)+sin(2*pi*0.25*n)

y=filter(b,a,x)

figure(1),stem(0:length(x)-1,x),grid

figure(2),stem(0:length(y)-1,y),grid

n =

  Columns 1 through 8 

     0     1     2     3     4     5     6     7

  Columns 9 through 16 

     8     9    10    11    12    13    14    15

  Columns 17 through 24 

    16    17    18    19    20    21    22    23

  Columns 25 through 32 

    24    25    26    27    28    29    30    31

  Column 33 

    32

x =

  Columns 1 through 5 

         0    1.7071    1.0000   -0.2929   -0.0000

  Columns 6 through 10 

    0.2929   -1.0000   -1.7071   -0.0000    1.7071

  Columns 11 through 15 

    1.0000   -0.2929   -0.0000    0.2929   -1.0000

  Columns 16 through 20 

   -1.7071   -0.0000    1.7071    1.0000   -0.2929

  Columns 21 through 25 

   -0.0000    0.2929   -1.0000   -1.7071   -0.0000

  Columns 26 through 30 

    1.7071    1.0000   -0.2929   -0.0000    0.2929

  Columns 31 through 33 

   -1.0000   -1.7071   -0.0000

y =

  Columns 1 through 5 

         0    0.8804    1.3684    0.3217   -0.1611

  Columns 6 through 10 

    0.1561   -0.3696   -1.3845   -0.8369    0.9066

  Columns 11 through 15 

    1.3676    0.3217   -0.1611    0.1561   -0.3696

  Columns 16 through 20 

   -1.3845   -0.8369    0.9066    1.3676    0.3217

  Columns 21 through 25 

   -0.1611    0.1561   -0.3696   -1.3845   -0.8369

  Columns 26 through 30 

    0.9066    1.3676    0.3217   -0.1611    0.1561

  Columns 31 through 33 

   -0.3696   -1.3845   -0.8369
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[image: image3.png]



vixodnoi

[image: image4.png]




2.3.2

прямоугольные импульсы

x=[0 0 0 0 1 1 1 1 0 0 0 0 1 1 1 1 0 0 0 0 1 1 1 1 0 0 0 0 1 1 1 1]

y=filter(b,a,x)

figure(1),stem(0:length(x)-1,x),grid

figure(2),stem(0:length(y)-1,y),grid
x =

  Columns 1 through 8 

     0     0     0     0     1     1     1     1

  Columns 9 through 16 

     0     0     0     0     1     1     1     1

  Columns 17 through 24 

     0     0     0     0     1     1     1     1

  Columns 25 through 32 

     0     0     0     0     1     1     1     1

y =

  Columns 1 through 5 

         0         0         0         0    0.5157

  Columns 6 through 10 

    1.0152    0.9995    1.0000    0.4843   -0.0152

  Columns 11 through 15 

    0.0005   -0.0000    0.5157    1.0152    0.9995

  Columns 16 through 20 

    1.0000    0.4843   -0.0152    0.0005   -0.0000

  Columns 21 through 25 

    0.5157    1.0152    0.9995    1.0000    0.4843

  Columns 26 through 30 

   -0.0152    0.0005   -0.0000    0.5157    1.0152

  Columns 31 through 32 

0.9995 1.0000

входной
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выходной
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